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fire brek, desimaler, rekkefolge for operasjoner
med parenteser

StudentName:

1
£X6+2+2(53-4,2) =

5,2x12+3+2(51-2,5)=

1 1
S x4+2-3(55+ =)=
3 (7 2)

I 1 3

—+ = )X4+ = =
(2 3) 2

3 1
Zx16+4+4(3,2+ =)=
5 (7 3)

ExamDate: ExamScore:

3
S +463.7-23)

2,2 +4(4,1+3,4)=

(5-3,9)x3—4,4=
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fire brek, desimaler, rekkefolge for operasjoner
med parenteser

StudentName: ExamDate: ExamScore:
1 27 7 3 31 1
- X6+2+2(5,3-4,2)= —=2— - +43,7—-2,3)= — =6-
6 (9 9 ) 10 10 5 (9 2 ) 5 5
- _ — 2 1 16 1
5,2x12+3+2(5,1-2,5)=126 2,842 -2)= =3
5 2 5 5
1 1 52 1 1 1 1 47 7
- X4+2-305,5+=)=(-——)=("17= 25(=—=)+5%xX3—==(-—)=(4—
. (5.5+3)=(3)=(173) -3 5= (75) = (45

11 3 29 5 161 1
4 ) x4+2=2-42 2,2 +4(4,1+3,4)= — =32
( 3)>< 2= e % : (4,1+3,4) 5 3 5
3 1. 248 8 11 1
Zx16+4+4(3,2+ )=~ = 16— - 44 =(——)=(-1—
e 6 3, 3) T 615 (5-3,9)x3-4,4=( 10) ( 10)
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